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@ -5x-3y-7 @ -5x—-y+1 @3x—y+1
@ 5x+3y-7 ® 5x+3y+7
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A=(4x+y-3)+(-x-2y+4)
=4x+y-3-x-2y+4
=3x-y+1




2. (Bx-y+3)+Bx+2y-4)=ax+by+cd W, a+b+c2 F2?
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(5x=y+3)+ (Bx+2y-4)
=5x—-y+3+3x+2y-4
=8x+y-1

2t a=8b=1c¢c=-19|B2
a+b+c=8°|t}.




3. @x?-29+1)—( )=-x>+3y—40°1A ()] gL 22

@ -5x2+5y-5 @ -5x>+y-3 @ 5x2+y-3
@ 5x2+y+5 @5x2—5y+5

( )= (4x? =2y +1) - (x> + 3y - 4)
=4x>-2y+14+x>-3y+4
—5x2—5y+5




4. X -{4x®+x-(2x-2)} & tdo| 5?7

@ -3x2+x+2 @ 3x2-x-2 @—3x2+x—2

@ —x?4+3x-2 ® 3x2-x4+10
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2 -{4%+x-(2x-2)}
=x2— (42 + x - 2x + 2)
:x2—(4x2—x+2)
=x>—4x>+x-2
=-3x% +x-2




5.

o™ t}a}Al oA 2x — 3y + 5= T fjof
4x + 2y — 3°] H Ut
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A-(2x-3y+5) =
= (4x+2y-3) +
L (6x—y+2)+
—8x—dy+7

dx+2y-3
(2x—=3y+5)=6x—y+2

(2x—3y+5)

2oto] Wgle]

® 2x-5y-8




6. -2x(x*+3x-1)=a®+bx*+cx88 W, a+b+c H2? (Ha,

b,ce=’dF)

—2x(x% +3x—1) = —2x> — 6x2 + 2x
a=-2,b=-6, c=2
na+b+c=(-2)+(-6)+2=-6
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g(12x+24)—%(36—12x) — Ax +Bx 2t g o, A -B 9] ghe?

D1 @2 ® 3 @ 4 ® 5

(F£4]) = 2x% + 4x - (3x — x?)
=3x* +x=Ax*>+ Bx

A=3, B=1
LA-B=2




